TRISEEAA TR AR A RBRE MR DL

) . e K ~ iyt e =R =5 o R ",
TkAE i ETHFEANEK (I‘/TUWL‘ “he R BR R R BR ZERE AR R a18d (H5&HR) B
FER i #ﬁg&%) e GAb -5 7) Gk (CCINE:9) Bk (FFEED) XEHEHE
e A H 138 98| 56 48| 28 28 16 8 5 2
— R L 1 11 6 5 4 2 2 2 1 1(0) 0
— i I ]| EF4 5 2 1 1 0 0 0 0 0 (0 0
R L
G 1) K 26 21 12 12 5 5 2 0 0 (0) 0
R L 11 15 5[ 3 3 2 2 20 1
— MR 191 134 79 70 38 38| 22 11 8 (0) 3
A 18 4 2 2 2 2 2 2 1 1(0) 1
ST 1 % 1 1 1 1 0 0 0 0 0 (0 0
M
B 1 1 1 1 1 0 0 0 0 0 (0 0
bk 1 % 4 3 2 2 1 1 1 1 0 (0 0
A I 0 0 0 0 0 0 0 0 0 (0 0
SR 112 0 0 0 0 0 0 0 0 0 (0 0
N | ZHT4
B 1 0 0 0 0 0 0 0 0 0 (0) 0
MR 11 0 0 0 0 0 0 0 0 0 (0) 0
AR IO 0 0 0 0 0 0 0 0 0 (0) 0
e SR A T2 0 0 0 0 0 0 0 0 0 (0) 0
0
S I 0 0 0 0 0 0 0 0 0 (0) 0
MR 8 T 0 0 0 0 0 0 0 0 0 (0) 0
R 10 7 6 6 3 3 3 2 (0) ]
&k 201 141] 85 76| 41 41 25 13 9 (0 4
) 2 e K ~ s % =R =5 R BRI
i N | ETHEAR sl R 2B i ZHE i 2B SHE  (F5el®)
TEE It ;ﬁiﬁﬁi%) BkE 1A 730 7 TR HHE FAb =75 2/ %) HHE (FRHH H %) XBEEHE
W5 1 P 15 13 10 10 7 7 2 1 0 (0)
ET4
CIIEE Q 7 6 6 6 6 6 2 2 2 (0)
Wt O 19] 16 16| 13 13 4 3 2 (0)
&t 2% 19 16 6] 13 13 4 3 2 (0)




